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2.8 2011 2011
Ba3 | [S]1 | [N BB [S1 | [NT | BB+ | [S] | IN] A 4.2 107.8
2.4 A3 [S1 | INT | BBB+| [S] | IN] A- [S1 | IN] A 3.9 120.1
Bal | [S] | [NJ | BBB+| [S] | INT |BBB+| [S] | IN] | a 13.1 108.2
54 c [S] CCC | [S1 | [S1 | ccc | [S] A 9.1 165.3
) Baa3 | [N] BBB+ | [S] | IN] | BBB | [S] | EN] A 8.5 68.5
1.8 Aa3 | [S] | [S1 | AA- | [S]1 | [N A+ [S1 | IN] A 9.5 205.5
Aaa | [S] | INT | AA+ | [S] | INT | AAA | [S] | IM A 9.7 102.7
2
[N [S] [P] "Negative Watch"
"Stable" "Positive Watch"
. o N [S1 [P]
"Negative" "Stable" "Positive"
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